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Note :This paper contains Seventy Five (75) multiple-choice/Assertion and
Reasoning/matching questions/carrying TWO (2) marks. Attempt All the
questions. :

Wi i weusl dRldR (ow) eglusedly wil, Al wd AssL virlladll Ul
B quiL UsidL el dvidil §. Udls w6 () ua B.

1. Red colour of meat turns brownupon 1 RiaafBul e Hiudl ale I

de” .
iy dosd : %ll@-"l .(wu&S) Foui 3Ral B, 5181

5 :
(A) Oxidation of iron in myoglobin A) el 2d $d il Sart
(B) Reduction of iron in myoglobin CIDIR
() Degradation of myoglobin B) Hpdlel-dl snadd ssut
Ay 8
D) Interactm-n of myoglobm with ©) wedisld Aian (el
hemoglobin - 98 ILSE{,) Y, €9
9. The chemical score for gelatin is : D) Hupdiola-dl dlloeield Al
MEDTRUICIRS
(A) 50 b = 2}
2. @Al 3Hlsd WIR ¢
(B) 60
(A) 50
ey O (B) 60
(D) 44 (C)y 0
3. In1kg of lemon squash, the amount (D) 44
of potassium metabisulphite to be 3. 1 [¥.al Axe 519 oiladl Y12
added is : GRali - wladl  uielllam
Rareysucsloe
(A) 610 mg
(A) 610 (M3
B) 615
W wE B) 615 [H.al
(C) 510 mg ©) 510 Bran
(D) 515 mg D) 515 (.3l
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1) ;- ——— T value gives a
measure of the average degree of

unsaturation of a lipid.
(A) Todine

(B) Saponification

(C) Peroxide

(D) Acid

Which of the following acids is
found in carbonated ‘nonalcoholic

beverages ?

(A) Propionic acid
(B) Acetlic acid |
(C) Citric acid

- (D) Phosphoric acid

Which of the following proteins
plays importarit role in chromosome

structure ?

(A) Topo-isomerases
(B) DNA polymerase
(C) Gyrases

(D) Histones
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(A) 2UdiSlH dey

(B) A3 dey

(€©) RiSs dey

© Ralls dey
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A5

@A) Wld-ls ANadls
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(©) Q{LiS;‘,fls xS
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(C) A
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The calorie content of food
supplements
anganwadis to 6 month to 6 year

children is :
(A) 500 kcal
(B) 600 kcal
(C) 1000 kcal
(D) 300 kcal

Vitamin By, deficiency caused by

lack of intrinsic factor is called :
(A) Pernicious anemia

(B) Pdor circulation of red blood

cells
(C) Beri-Beri -
(D) Megaloblastic anemia

In a child suffering from marasmus
“which of the following clinical

manifestations is not observed :

(A) Watery diarrhoea with acid
stools

(B) Subnormal temperature

(C) Visible peristalsis from this

abdominal wall

(D) Generalized edema
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sioaslii 6 Hiael 6 avl yel-i
GO AU Badl YR s et
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(A) 500 kcal
(B) 600 kcal
(&) 1000 keal
(D) 300 kcal
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10. Healthy growth of epithelium is

function of :

(A) Vitamin A
(B) Vitamin By
(C) Vitamin C
(D) Vitamin B, “

11. The following are the “Institutes”,
which one of them does not fall

into this category ?
(A) Government Hospital

(B) Government-building having

various offices
(C) Family

(D) Old-Age Home

12. Among various kinds of menu, -

“Al-a-Carté” menu means :
(A) Choice within a' menu
(B) Serving appetizer

(C) All course meal

(D) Packed meal
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10.

L

12.

sidlacllan (B29e Agl) Al dgd

[asi 2 -

A Ralld 2 o sid.®
B) (el ofly o _3[%[ 3
©) [qeein Al 4 s &
(D) (el ofly, o sid &

{12 ealde Al . Anidl sy 210

aollsaul »1al usig <l ?

(A4) dadi-e clluea

(B) dlaridre usidl 3 ol 208l &
(C) &

(D) S| ¥R

[Alag ustl Aquidl “wpa—s3
Ul 2y &

(A) Ad+ll »iex ol

®) A2S» Nrug
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13. A good “Old Age Home” has the
following features :

14.

(a)
(b)
(c)
(d)

@

(i)

(i)
(iv)

Well furnished kitchen with
dining hall on ground floor

Bedrooms with attached toilets
on first floor

A garden with benches

Temple and prayer hall in the
basement

(v) Medical assistance- and
checkup facilities

Codes

A) @), GD), @)

B) @), (v)

©) @), @), ), ), @)
M) ), (D), (), )

Match the items in List I with the
items in List II :

List 1
Child care @)

Geriatric care (i)

List II
Old age homes

Nursing home

Care of sick (i) Creche
Abondoned (iv) Hostel
children care (v) Orphanage
Codes :

@ & © @@
@A @ @) @) @)
® o @ O (ii2)
© G © @ @
O Gv) @ @ @)
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13, W5 Wl “urst w4’ L AlA yu
Alalisdizil § ¢

14.

(@)
(b)

(c)
d)

() oliadfia 4 Ms AR WA
fletaly] UG i wHALAL
2451

Gi) Mam WA Yol st 5wl
ASi WA ¥ Sl

Gii) s oAl 3 FHL A-d/otisst Sy

(v) B2 A el uel s 3 ¥

DL TRIC]
@ BB Hse 2 wlRam Adasl
PR
A) O, @), Gi)
(B) (i), (v)
©) &), (), @), Gv), )
M)~ @), GiD), Gv), ()
List T il List I <0l olotdl st :

List I List II
6llol A (i) ™SI ¥R
gsidl deun G vl
SRudid
o+l Aeuol @) Hlslul 8
crdal eunsl (o) iked
ALY (v) 2UlU ASH
1S :
(a) (b) (e) d)
(A) @) @) G Gv)
(B) ) (1) @ G
) Gi) @ (ir) (v)
D) Gv @ Gy (@i
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15. A profile of a person in terms of

16.

17.

education, experience, skills and
competencies to perform a job as
considered in hospitality industry is

known as :

(A) Job analysis
(B) Job description
(C) Job specification
(D) Job posting

A seam line at the centre back of

the collar is present in :
(A) Partial Roll Collar
(B) Chinese Collar

(C) Shawl Collar

(D) Polo Collar

The washing of the garment in
Readymade Garment Industry is

carried out to control :
(A) Shfinkage

(B) Stain removal

(C) Check colour fastness

(D) Remove extra loose threads
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18. Assertion (A) : . 18. s34+ (A) :

Fashi ket consti f 2 5 e
ashion market constitutes o 3 Hife el Yol desl 414 ©.

different components.

sikel (R) ¢
Reason (R) :

(@) Coat, pant and shirts (@ Sz, L2 »i w2

(») Design, production and B)  SlpLSe, MissU A Slagleya-
distribution N
(© 3, Slid 2 2ugldsel
(¢) Fashion, design and
. > @ Gur-l susi, 1Al susi i
illustration
22— e
(d) Upper garments, lower e
garment and footwear 1S -
Codes

(A) A 7 Rla) wal &
(A) A and R(a) is correct

-

(B) A il R(b) Wl O

(B) A and R(b) is correct
(C©) A A Rie) Al &

(C) A and R{c) is correct

D) A and R() is correct D) A ¥ R(d) WAL ©

19. On an average a sewing operator 19. £ AR - AHUHL A5 ULsSA

sews only in a certain percentage seiaMl R s 9 ¢
of his time : :
(A) 10%
(A) 10%
(B) 20%
(B) 20%
(C) 30% (C) 30%
(D) 40% D) 40%
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20. The theory of psycho-social 20.

development was propounded by :
(A) Jéan Piaget

(B) Erik Efickson

(C) Sigmond Freud

(D) Jean Rousseau

21. Knits that have a pattern on the 21,

face side is :

(A) Interlock stitch
(B) Knit and welt
(C) Float Jacquard

(D) Full Jacquard

22. Tex is mass in grams of : 22,

(A) 100 mts. of material
(B) 340 mts. of material
(C) 9000 mts. of material

(D) 1000 mts. of material

Home Science-IIT 10
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93. The repeat unit in protein fiber 923 il siSezHl e ye QA
18 ¢
(A) °gslo
(A) Glucose

Q-\J-Il A 5
(B) Amino acid (B) >l ARl

(C) Benzene (C) oivaflr

(D) Lactose (D) As2io
4. abri 1@ hi P . i T
24. Organdy fabric is achieved by o4 = aqiuiel suiell »izdl-sl s1us
using : - |

qad ©

(A) Acid finish
| . (A) lls sldla
(B) Basic finish

(C) “Thermosetting finish (B) Afls sldla

(D) Antistatic finish ©) axlada si-la

25. Quality of fiber fipeness is D) ?%fél%%élﬁ Al

determined by :

95, didaldl yadi-ll daadt il
(A) Gravimetric and optical -

. o .
methods 56 Fladl wuH © 7

(B) Gravimetric and extension (A) AdAdls 21 wLElsd HUS

methods e — -
(B) AdALls wA Ma-url HAUS

(C) Optical and extension methods
(©) e A dee-Ud HAS
(D) Optical and balance plane

methods D) »irdlse A A=Y A QS

Home Science-II1 11 | [P.T.0.]




26. Resources can be classified in the

following ways :

(i) Economic, Envirqnmental
i) Human, Non-human

(@ii) Tangible, Non-tangible
(iv) Motivational, Attitudinal
Codes |

(A) (@), (D), (v) are correct
B) @), @), (iv) are correct
(C) (i), Gid), (iv) are correct
(D) @), (i), (i) are correct

27. Which of the following is not a

characteristic of Resources ?
(A) Resources are useful

(B) Resources have alternative

uses

(C) Resources are available in

* abundance

(D) Management process can be

applied to the resources
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D) AE-A il uBa ey

AAEAG Qs (A4 il wy
&9

@ Ssi-idls, wulaelly

@) Ay, 23y
(iii) 2o, - Swold
(iv) ‘t\lélc\lill'iét; eleyse
siS

A) @), Gid), Gv) WAL B
B) @), @), Go) WAL B
(C) @), (@), Gv) WAL &
D) @), Gi5), Gi) wAL B

AL Ul 56 cnmBsdr g+l
w4yl ?

(A) A8 Gyl &
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28.

29.

A homemaker changes the place of
bottles containing tea, coffee, sugar
etc. from the store room to the shelf
near the gas stove in the kitchen.
This is an example of one of the

following :

(A) Change in .hand and body

motion

(B) Change in work, storage space

and equipment
(C) Change in production process
(D) Change in raw material

Paper-pencil techniques of time and
motion study include :

(i) Development chart
(ii) Process chart

(iii) Organizational chart

(fv) Operation chart

Codes

_ (A) (i) and (it) are correct

(B) (ii) and (iv) are correct
(C) (iii) and (iv) are correct

(D) (i) and (iit) are correct
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98. wis ofRell 2e1, sigl, wis [A. -l

29.

sooqi+ll aoul 2212 3uHiel RIS A
wq W oed 9. i ubu A

A4 Ase Gels & ¢
(A) sl A vioruaul uRad-

(B) Gusel, sl id stdui
yRad+

©) Ganed uBumi uRad+
D) sl el wRad+

iYL A AR veUAHL AUR i,

Arid ugll 2al @ © ¢
G Rs@ Al
Gi) AU W
Gii) AUSHAAE AL
Gv) ulad e
51S :
(A) () 2R (@) WAl 9
(B) (i) A (iv) STENR
(C) (i) ¥ Go) Wl &
(D) (i.ﬁ)':}{é‘t (i) WAl 8
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30.

31.

32.

Triad colour scheme makes use of
the following colours in a colour

wheel in Prang colour system :

(A) Two colours opposite to each
other

(B) Two or three colours adjacent

to each other

(C) Three colours forming a

triangle
(D) Half of the colour wheel
Life span development refers to -
(A) Critical periods
(B) Domains of development

(C). Age related changes in stages

of development
(D) Integrated development

Lack of stimulation and care during

infancy may cause :
(A) Delayed milestones
(B) Stuttering

(C) Motor disorder

(D) Aggression
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33.

34.

Home Science-I11

The early childhood period coincides
with “Erikson’s” time of autonomy

and :

(A) Sensitive responsiveness
(B) Attachment

(C) Initiative

(D) Identity formation

The objectives of the national policy
for empowerment of women does not

include :
(A) Strengthening legal systems

(B) Equal access to health,

education and social security

(C) Equal access to participation
and decision making in

economic life of the nation

(D) Mainstreaming a gender
biased perspective in the

developmeht process

33.

34.

15

S [saurtdl Rgid wwsl ‘mel
ASeses’ L AAM A A olly
9 Ase © ?

(A) Ade-dla awel ude §2LR1

HABIR

(B) AaAdl (A2un-2)

©) SFARA (adst wor)
D) el3dold iowustd wMs

CQand NRRIL SR AHwARe s12
@i’ o saL ed Gial uR sdint 8
oy 9 7

(A) sl o weidlsel

(B) e, [Qal 2 A yraudl
gl el wa essel

E__,,QL‘{dL

© adl wilBls wd Radus
ulBaiiMg YorHdlL et et
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35. Use of Disciplinary techniques and  385. oy Ui+ soaeflyi STICIEXIER] yreds

evolving a clear set of rules for (A, ol 4, BRIRE AL e33R H]

children helps adults to : 2l [vag oty %33 & 5139 3

(A) Convey societal expectations to Al
children (&) ouusA Al Rl e ud

(B) Keep children’s friends away (B) citasl eldl £ &

(C) Develop appropriate social (C) ollasui 4loy 24 A1 HLlPys
behaviour in children AR [M3ue w1y 6

D) Punish and have power over D) olasHi Brduard Rewe 21
children Al e5 AAdY D

36. The extension work at lower level 36. OUMSIHL Mt 2 43 [Radaol s

is carried out in the village by : 3R

L (A) sl gl i

(B], BOO ' (B) ofl sl 24|

(C) VLW

(€) dl 24 soiey

(D) Serpanch M) u2

37. Panchayati Raj was initiated by : 37. g 219 u3Blld 53] -

A harlal 1
(A) Jawaharlal Nehru (A) wUsAIA 83

B i ndhi '
(B) Indira Gandhi B) Se21 o]

(C) Sardar Patel
(C) ¥|REIR u2q

(D) Balwantrai Mehta . 5
(D) eldddpUd Hedl
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38.

39.

40.

The method demonstrations are

good for showing :
(A) Procedure
(B) Objectives
(C) Evaluation
(D) Monitoring

Problems which are common to large

number of persons can be thrashed

out through :
(A) Home visit
(B) Symposium
(C) Regular talk
(D)

Discussion

The term ‘Extension’ was coined
by :
(A) Charles McCarthy
(B) dJensen
() Nelson

(D) William Semell
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el Fed- oidigal w2 w8 ¢
(A)  silusudl

(B) &gl

- (0) Heuls+

(D) Acdd 24

ag usdl disld @y usdl Al

SE AL HI2

(A) L&

B) A{luiflaxn

©) [RaMd -

D) Ul

el wos Fuls s -
(A) e wsidl

(B) ¥+

(C) -au-

D) ddlun A
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41. The major trend in Development 41, [Qsid A2+ Yoy dls ¢

Communication :

(A) HU8dl mitd sl

(A) Acquisition of Information
e (B) wuHUxs (s

(B) Social Development ) .
(C) %-AvYL YeUa-L

(C) Intended population

D) wWMUxSs qALR
(D) Community communication -
42. disAus v s3
42. Public Relations essentially':
A daisil yuudl Aaqar w3
(A) Plan to earn public under-

Y% 53 0
standing
B) ladl »ud &

(B) Provide information

(C) wdldy Ml s3I ©
(C) Produce documents

(D) ™ Aud © FaL 3 Adl, AR
(D) Operate media like TV, Radio

_ _ . 43. [Bendl yvy yyle & -
43. Main limitation of the film is its : 3

(A) Fixed pace A) [Rallzd adl

(B) Time consumption (B) dMuU-L QUi

(C) Entertainment value (C) H-lo Hey
(D) Sitting arrangement D) olss-l auigal
Home Science-III 18
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44,

45.

46.

@

(C)

Prasar Bharati, a statutory

autonomous body was established

iﬁ the year :
(A) 1976
(B) 1982
(C) 1983
D) 1997

This may also be called an internet
forum :

News-stand

(B) Message board -
Podcasts

(D) Micro-blogging

44.

45.

The methods chosen for a study

by the researcher are determined
by :
(A) His/her belief about how
scientific knowledge or social

reality is constructed

(B) Advanced statistical techniques

Software available for data

(C)

analysis

(D) Scientific principles of text-

book
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47. In order to make a research reliable,

48.

it is important that :

(A)

(B)

(C)

(D)

There is no deliberate attempt
to either conceal or highlight

something

Multiple methods are always

used

Accuracy and Repeatability
are assured and explained in

measurement procedures

The solution to the research

problem is known in advance

In experimental research, control of

extraneous variables is usually

achieved by :

(A)

(B)

(C)

(D)

Ensuring that every feature of
the environment except the
manipulated variable is held

constant

Controlling the effect on all

variables on the environment
Sequencing events in time

By attempting to explain

variation to subjects of study

Home Science-III

20
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48.

Yeed B 3

(A)

(B)

(C)

(D)

AR0 ASA 515 sguLac-l 2yl

dl eafaail uaet AL s RS
SHIUL A5 $dl a4l Id Al
AssALS A 2o

AWl usAidl ¢d usayl

Meldl lal

elulHred Yula-ui, olsl-l

WRelly Fase qaaiy & ¢

(A)

(B)
(C)

(D)

dldld8A4L &35 uReoiq
Guatda (A-lwydds) uwRRoa
[ xfqaa g & el
Al s34l

o8l WRoiHl qidiael v
el 2 Ml
UMY HYleldl gei-l alsanl]l

53]

AAlal saf»ld dsiad-l

AHYEL YAl U™ $24]
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49. Out of the following ﬁgures' given,

50.

which of them indicates the

strongest relationship between

2 variables under study ?

(A)

(B)

+0.12

-0.09

(C) —0.98

(D)

+0.79

The key purpose of having a

representative sample in a study

is

(A)

(B)

(o)

(D)

To ask new questions about the

target population

To be able to generalise the
findings to the population

represented

To reduce the number of tools

and tests

To confirm a null hypothesis
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(A)

(B)

(C)

(D)

+0.12

-0.09

—-0.98

+0.79

Aol Ayl sulaqidl yeu &g

¢

(A)

(B)

©

D)

dqoilid Wgdada -al sl
yg9al

Hqoild Wigdada ulReusi-l

el sl uldd A dd ¢id
26 e Sazaill vl 2l 52l

dd sisulllflan R sl
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51. What is t_he characteristic of

52.

good figure used in a Research

writing ?
(A) It conveys just the facts as seen

(B) It augments the text, rather
than just replicate, thus
improving clarity

(C) Just focusses on easy inter-

pretation

(D) Is as small and simple as

possible

Which of the following acids .will

have a higher bacteriostatic effect

~at a given pH ?

(A) Acetic acid

(B) Tartaric acid

(C) Citric acid

(D) Malic acid
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53.

54.

55.

Glycemic control is a diabetic subject

can be best judged by :

(A) Fasting blood sugar levels
(B) Urinlary sugar levels

(C) Postprandial blood sugar levels
(D)  Glycosylated hemoglobin levels
The acetic acid content in Vinegar
is :

(A 2%

(B) 4%

(C) 6%

(D) 8%

Flax seed is considered as a

functional food because 1t contains :
(A) High amount of Vitamin E

(B) Low amount of antinutritional

factor
(C) Low amount of fibre

(D) High amount of omega-3-fatty

acid
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(A) 2%

(B) 4%

(C) 6%

(D) 8%
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56.

(a)

®)

(c)

@

Match the items of List I with those

in List II :

List I

F.W. Taylor ()

Henri Fayol (if)

Frank and (iif)

Lillian Gilbreth

Mayo and (iv)
Roethlisberger
()
Codes :
@ ()

A O @)

B) @) G
C) G G
D) G Go)

Home Science-II1

List II
Hawthorne study
Father of Scientific
Management
Father of moderﬁ
management theory
Father of éocial
system approach

Time and motion

studies

€ @
(i11) | (tv)
W @
@) ()
@ @

56.

(a)

b)

(c)

(d)

List T <l wel A List II 4 Yoy

Ad st :

List I
SRR
2dR

Sl 3yl

35 w9

leflai
Aasiy
Yl v
Latlee(ly

o[

51

(@)
A @
B) @)
© @

D) @)

@)

@)

(i)

(iv)

(v)

b)
(iD)
(i)
(iv)

(iv)

List II

Sl 209]

Aty -
Ul [Udy
2UE[AS ARy

Yt Rigidl Rdy

AHLUYS ey
AMAAL Al

AHY i+ A

YA

© @
@) (o)
@ @

@) (W)
@ ©




(a)
®)
(c)
(d)

58.

(D)

Match the records in List I with
department in List II where they
are used :

List I List II
Stock book (i) Purchase
KOT (ii) Personnel
Payroll record (i) Store
Specifications () Dining room
Codes :

@ B ©© @@
A @ @) G @)
B) @) G @ @
) @ G @ (v
®) ) @) @ @

Assertion (A) :

Profits are a definite standard
against which to measure success,
many companies use income
statement for department control.

Reason (R) :

Profit and loss control when applied
to departments, it is assumed that
if it is the purpose of the entire
business to make a profit, each part
of the enterprise should contribute
to this purpose.

Codes :

(A) Both (A) and (R) are false
(B) (A) is true and (R) is false
(C) Both (A) and (R) are true

(A) is true, (R) is true but its
explanation is not correct
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(a)
(b)
(c)

58.

List I UL T{?LSH List IT i Qr{L'LK:LL
Rleuol 3 ol a-dl Guaiol A o d-dl
A8 S|

List I List I
@ls WS G wle Rl
%2104, Gy wdlda [acus
ddd uAs (i) @il [QeL
vl (iv) %HU-AL viS
(ERRRIENY
1S

(@ (&) ¢ (@)
(A) () Gi) (i) Gv)
B) G @) @) ()
C) @) Gi) @  Gv)
D) Gv) @ G @
s (A) ¢

A5l 25 g Hirts R & % %L gl
ASULAL HULY 6, &L@ﬂ syl Suastil
[Qaiiq Reqslla $2le M2 AR B,

519 (R)

[Acuai @A rti?t 2 b&a-j, it
BRIl acuq 9, cll Adl “Rel
SQC{LHL U 9 5 o o vl C?{CR{LUL"L
«s,ist 5341 Ml @uqmmt aqLHL rouq
al el 835 Reudl Qul sl TR
B

51S ¢
(A)
(B)
(C)
(D)

(A) 24 (R) 6in viiel &
(A) AR B A R) “E &
(A) 9 (R) old Al &

(A) 1A B, (R) Wy & w2 a-l
AHABL a2l <2l

[P.T.O.]




59.

60.

61.

Iron bioavailability is affected by all,

except :

(A) Phytates -
(B) Tannates
(C) Oxalates

(D) Ascorbic acid

Heredity and Environmental

influences are principles of

development just like :
(A) Unique identity'

(B) Individual differences and

variations in pace of growth
(C) Discontinuous stages
(D) Variations in language

Studying children’s roles in films

can help us understand :
(A) Director’s values
(B) Evaluate talent of children

(C) Children’s understanding of

media

(D) How society wvalues and

positions children
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62.

63.

64.

Juvenile Justice Act provides for :  62.

(A) Prevention of crime

(B) Saving children

(C)' Care and protection df children
(D) P;rovidir;g families for adoption

The process through which children

adopt to new information and 63.

experiences by changing their ideas

and actions :
(A) Assimilation
(B) Reaching equilibrium

(C) Accommodation

(D) Imagination

The concept of trousers was of : 64.

(A) French origin
(B) Roman origin
(C) Middle age origin

(D) Asiatic origin

Home Science-111 27

“ordAd aRew dse’’ Al euotd

ALY 9
(A) Ol-ld, soL
(B) OlOLsIHL vl2dld
©) ounsi-l deun - AaL
M) ol sl wdas iudl

s uBuL ¥ gzt ounst Adl suledl
249 Aol dusil QAR 2 salil

53513 gL AUg3L O ¢

A) AREAUA

(B) A Aaad

(C) Ls5HISUA

(D) seU-ll

Yeaeil yOIO4 S L Al gl
(A) 3 Hueid

(B) 3t Yaedd

(©) Hlsa 2y Yacid

D) 2{ladls yaeid

[P.T.0.]




65.

66.

67.

The Hi-Tech method adopted by
garment industry for International

quality products is :

(A) Computer Technology
(B) Eco-Technology

(©) | Gerber Technology
(D) Apparel Technology

Textiles used for Horticulture and

Forestry is kpown as :
(A) Build-tech

(B) Agro-téch

(C) Horti-tech

(D) Pro-tech

Baluchari is a traditional saree

from :

(A) Dhaka

(B) Uttar Pradesh
(C) Bengal

(D) Bihar
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65.

66.

67.

ARH2 Srs2dlys gll Aid Al
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(A) syer 25+l
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68.

69.

70.

Which one of the following is not
a facilitator to Time Management ?

(A) Diurnal Rhythm

(B) Time sense
(C) Rest period
(D) Demands

A lady is carrying a baby in her lap
and walking. Which efforts she is
exerting respectively ?

(A)
(B)
(©)
(D)
Assertion (A) :

Pedal and Mental
Torsal and Mannual
Mannual and Pedal

Torsal and Visual

Ergonomics is concerned with fitting
man to the task and machine

Reason (R) :

Proper relationship between work,
worker and worker environment

reduces fatigue of the worker.
Codes :

(A) Both (A) and (R) are correct
(B)
(&)

Both (A) and (R) are not correct

(A) is correct and (R) is not

correct

(D) (A) is not correct and (R) is

correct
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71.

72

73.

These give meaning to life and form 71

basis for one’s philosophy of life : |
(A) Goals

(B) Values

(C) Standards

(D) Realization

Which of the following pairs apply

72.

to NFE ?

(A) Informal, structured

(B) Interactive, predesigned

(C) Organised, _syste.matic

(D) Formal,. particular subgroups

KVK works primarily for the

73.

development of :
(A) Agriculture

(B) Women

(C) Science .

(0 Chflasss
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74. An Entrepreneur is one who :

75.

(A) raises money

(B) is educated

©

is innovator

(D) is independent

Which of the following methods
involves a short series of lectures
given by experts each with different

viewpoints ?

(A) Seminar

~ (B) Panel discussion

(C) Symposium

(D) Group teaching
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75.

(D)

AleilPls uSHs 3 ¥

(A) 2UAsHL QUIRL 5
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(D) % AU

[P.T.O.]




ROUGH WORK
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